Genetics Problems Game

1.  Hemophilia is an X-linked, recessive disorder.  A purebred normal woman mates with a man who has hemophilia.  What is the probability their daughters will have hemophilia?  Must show work.

2.  Hemophilia is an X-linked, recessive disorder.  A woman with hemophilia mates with a man who is normal.  What is the probability that their sons will have hemophilia?  Must show work.

3.  Colorblindness is an X-linked, recessive disorder.  A color blind man mates with a normal woman who is a carrier of colorblindness.  What is the probability that their offspring will be colorblind?  Must show all work.

4.  Colorblindness is an X-linked, recessive disorder.  A normal man mates with a normal woman who is a carrier for colorblindness.  What is the probability that their son will be colorblind?  Must show all work.

5.  Create a pedigree of the following family.  Bob has one sister, which they both share the same mother and father.  Bob marries Brenda who has 3 brothers (all from the same mother and father).  Brenda’s 3 brothers are unmarried but one of them has a son.  Bob and Brenda have 3 children together (1 son and 2 daughters).

